
Ｏ3cm5cm

3cm

4
3
� % 3 % 3 % 3

= 36�(cm3)

� % 3 % 3 % 5 %
1
3

= 15�(cm3)

⑤④

6cm

5cm

6cm3cm

9cm

6 % 6 % 5 %
1
3

= 60(cm3)

� % 3 % 3 % 9

= 81�(cm3)

③②

　次の立体の体積を求めよ。 4cm

9cm

5cm

氏名　　　　

　年　　　組　　　番　

5 % 4 % 9

= 180(cm3)

①

体積 １

Ｏ2cm6cm

2cm

4
3
� % 2 % 2 % 2

=
32
3
�(cm3)

� % 2 % 2 % 6 %
1
3

= 8�(cm3)

⑤④

3cm

8cm

3cm4cm

6cm

3 % 3 % 8 %
1
3

= 24(cm3)

� % 4 % 4 % 6

= 96�(cm3)

③②

　次の立体の体積を求めよ。

4cm

7cm

6cm

氏名　　　　

　年　　　組　　　番　

6 % 4 %
1
2
% 7

= 84(cm3)

①

体積 ２


